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i+ A sample of size n=200 observations is randomly selected from a population consistingof
12 million observations with a mean u=6 and variance o % =81. (10%)
(a} What is the probability that the éamj:le value of  is greater than orequaito 7 7
(b)If the size of the population were 1200 rather than 12 million, what is the probability
that the sample meanX is greater than oz equal to 7 7

/A~ Independent random samples drawn from each of two populations produced the following
sample information:  (10%)
Sample 11 m=160, Xi=98, 51=16.6
Sample 2: =180, %=96, s2=17.2
The experimenter wishes to determine whether there is a difference between the two
population means, '
(2} Is this a one- or a two-tajled {est?
{b) Locate the rejection region for the test (o= 0.05) and caloulate the value of the fest
statistic. _ ' '
(c) Do the data support rejection of the null hypothesis? Use a. = 0.05,
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U~ A consumer preference study involving there differemt package -desi-gus
(treatments) was laid out in a randomized block design among four supermarkets
(blocks). The data shown in the foliowing table represent the number of units sold
for each paclcégs design within each supermarket during each of three given
weeks. (10%)

Supermarkets
Desi 1 2 3 4 [Totals
1 17 15 1 ) 39

2 34 24 23 22 105
"3 23 21 S 16 68
fotals | 74 &2 32 44 212
(&) Corriplete the ANOVA table, .
Source 88 - daf M8 F -
Treatments 547.1667 - e ’
Biocks 348.0000
Eror
Total 940.6667

(b) Do the data present sufficient evidence to indicate a difference in the mean sales
for each package design? Use a = (.05.
() Do they present sufficient evidence to indicate a difference in mean sales for the

w supermatkets? Use a = (.05,
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